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el HIIEXelAMde 288 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
S AE A 1,591,777 1,504,868 86,909
HOI282 g 1,232,381 1,149,303 83,078
HIISHM2ANES 288 29 1,232,381 1,149,303 83,078
HIIE MelAde 88 29 544,107 454,269 89,838
101 @14 dl 495,387 352,779 142,608
4 D12t ZE2XREES 495,387 352,779 142,608
OMEHIISHEARY 492,633
OJles 61,1603 =17 312 324,393
OFs=+¥ 61,1603 x17H «52=F 54,066
OAR=< 61,1603 x17H 15 15,596
OsgIzfs¢ 30,5803 x17H 652 33,791
O= &l 50,0003 x17H 128 10,200
OZEFOtHI 200,000& x17Y %23 6,800
O4UEE = 394,055,000& *12% 47,287
Of4ax=H 2 =% 722 500,000 14! 500
OAMZ A =8 M= 2 2,754
OJdles 150,000 *3H 3 23] 2,700
O= &l 3,000 +3H 32«23 54
201 Let24dH] 48,720 101,490 A52,770
01 At 22/l 37,620 90,740 253,120
@ R<Iget=:]l 2,400
OJIZtHZZ2 X HH= MEH & AFRESHI
200,000& »12& 2,400
o1l =l 35,220
ogas 6,000 x24H 364 5,184
ogaotA3 1,500 24X » 156 4 5,616
Ooxgs 120,000& 24 »4'H 11,520
Ootd 3t 60,0003 x24H 4= 5,760
O&st 11,0002 x18H 6= 1,188
Oetd 10,000 24X x20H 480
oxgsdd 500& x249H *31204 3,744
(@METS 2,000 18 =484 1,728
02 =224l 9,100 8,750 350
02223 % HAl 9,100
022X &AL HEHI
350,000 x26%H » 13| 9,100
03 &AL S HI 2,000 2,000 0
OFHXY FodH3| 500,000 =401 Ot = 2,000
HII2 MelAl&E 2el 688,274 695,034 A6,760
201 L2 | 420,690 392,090 28,600




PN BFIMNSA

M HIISZE

Selr HIISXMEANES 28 29
SA - BB (3) - NRAL - B Of & o il
01 At 22l 321,290 280,190
Oget=ZH| 76,790
oAz EIIHA 5,000,000& =13l 5,000
OsaAsHdelAMd EIIZ A 1,000,000 =12 1,000
OL2AE & SASHelAE Ege Z014
At 250,000 23| 500
otoI=sd=d HAM 7,000,000& 12 7,000
O H Xots ZA 800, 000& *43] 3,200
O+ =23 AM 600,000 122 7,200
Ootiolztel =2 450,000& =128 5,400
OUIIRINEE Uedle=+==  220,000& #5235 11,440
O=xZze =2 450,000& x12& 5,400
OXPSZI=FHI 650,000& *13] 650
Oa2z Jsxld 30,000,000& =13l 30,000
OAIE ZHIS X 244,500
OMEHIISHM2ANE RANE+
7,000,000& =123 84,000
O Ml 2td| 22,000
—AAZ >2ABUY(1.58)
7,000,000& »23| 14,000
-SAs 2FELH(1E) 3,000,000& *13l 3,000
-HES wH & o 5,000,000 14| 5,000
ORYd=da HESAAE WA
10,000,000 * 14! 10,000
OA2=2 HUH &4l 2,500,000 *2CH 5,000
OaxdzU H#A(2H 5) &Y
3,000,000& =63 18,000
O3 4 & 2A2HY Fel& EA
2,500,000& 23| 5,000
OSAa2 22T SEANE FAa
3,000,000& »23| 6,000
O L MO AAE(PLC) EHIHI
20,000,000 =14l 20,000
oAz & 82F i Jde il
20,000,000 =14l 20,000
ONgE H8)7 & M 2=I| Fdid|
5,000,000& 14! 5,000
OZJg=Il =&t 4,500,000 »2CH 9,000
OWUE &I =&t 2,500,000& »23| 5,000
O1.2x% &£371 & HiJI#=z Fdltl
4,000,000& *23| 8,000
OAgetel & d2ctol 4|
2,500,000& »43| 10,000
O=ti&d& FH L AA 2,500,000 12| 2,500
OdlagdEI FHl 2 2 A 5,000,000& 12 5,000
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el HII2XAlA L 58X 29 (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OCCTV ® A2 =+ 5,000,000& x 14! 5,000
O=2 oA sz 5,000,000& * 14 5,000
02 3524l 99,400 111,900 A 12,500
O Xt &k Bty 29,400
OL2ZAE & 23 rEHBHH|
350,000& *7CH x12& 29,400
O™ ZHl 70,000
OA2AE & dl
1,400& 50,0004 70,000
202 (4] 3,500 2,800 700
01 2L Y| 3,500 2,800 700
(@FAT=ies RS 50,000& *2H 35 3,500
206 M =8l 120,584 120,744 A 160
01 X2 bl 120,584 120,744 A 160
@kl 37,484
oxr3 2,500
O&F2H 8,400
OAr=s<t 8,100
EFF 6,984
O AL 3,000
OSLAL 3,000
OAAN 3 3,000
ORgeR 2,500
oa24d D 83,1




PN BFIMNSA
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S HIIS™MeAMNEY s88 29 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oHgeEge 9E a2 uxH
20,000,000 =14 20,000
oHgeEge =% & =AXEI| WA
6,000,000 » 14! 6,000
OHZELH ZH2l HE wil
7,000,000& » 14! 7,000
OMEE W =2 &X 10,000, 000& 14! 10,000
O&J| ups BHEIC] W& 3,500,000& » 14! 3,500
Odgd ZdEt 0™ 3,000,000 » 14 3,000
SMHMEA O (AISS) HEZX W
3,500,000 » 14! 3,500
OWW™E &I HUE WH 10,000,000 * 14! 10,000
Oax2HE T 2o & oo =Zet Wi
22,000,000& =14 22,000
OCCTVEXI(RAZ A7 B2=1)
5,000,000& x 14 5,000
OCd&E+ HEX &4 6,000, 000%* 14! 6,000
OSA =S M2AE BE23A
15,000, 000& 14! 15,000
HE2LZH (B2 ALY D) 359,396 355,565 3,831
ol 2d | 163,056 181,817 A 18,761
ol 2AH| 163,056 181,817 A 18,761
101 @14 dl 163,056 181,817 A 18,761
01 2= 119,822 139,012 A 19,190
OAZteZ2R=Y 86,753
Ob= 10,6823 x2H +25A| 2t 128 6,410
or=s 9,649% x1H +25A 2t 128 2,895
08z 8,663 1P «25A] 2t 123 2,599
Os= (A 8,663 x4 x12A1 2tx180L 74,849
oI (A2A2H) 16,635
O8= 2,888 4 «8Al 2t+180L 16,635
oOFdIZ2(A2AR2H) 16,434
O8= 69,6333 x4 x50 16,434
03 RIAHAZ 2 E + 43,234 42,805 429
OMEMYyIIdd 43,234
OoJlzs 1,792,420 x1H + 123 21,510
O&0= 1,792,420x1H 42 | 7,170
OFE S tHl 500,000& *x1& +23] 1,000
OANMZe 2R+
12,6953 1. 551 «13A| 2t+ 128 2,971
Ogxt==< 12,6953 «1H »8Al 2t 15 1,524
Of22RY 12,6953 *1.5%8AI 2+ 1H 6L 915
OPIE=E= 20,0003 x 18 «12& 240




SH: BEALL
B AR (HANLL)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Ons&EXH 50,0003 x 18 128 600
O M ZAlHI 70,0003 x 18 «128 840
O+ 30,0003 x1H 128 360
O 30,0003 x1H«128 360
O4REE JERL3
36,791,000& *15.61% 5,744
JlEZl 196,340 173,748 22,592
Jl2zl 196,340 173,748 22,592
201 Let24d] 176,780 159,588 17,192
01 At 22l 31,320 33,300 A 1,980
OB+t 22,960
OANREBE FY(EH ) 200,000& »12& 2,400
O=2&EJI8X #2 S 80,000& x12& 960
Ogzad g1+ 500,000 »23| 1,000
Otlesss 200,000& x12& 2,400
O 500,000& »12& 6,000
O&JItdE =2 400,000& =122 4,800
OfUZHIANAREEA+Z 320,000 =122 3,840
Ol SZMAMEIAESA =T 130,000& 128 1,560
ozg=+¢ 5,000
Oog &l 50,000& x100 5,000
o=&Hl 7,000& x8H +60 3,360
02 3322l 145,460 126,288 19,172
03223 % HA 144,960
OREYsER=S 80,000& x12& 960
OoNIIe3 12,000,000& »12& 144,000
0222 22X AZHI(PSY 2L S)
500,000 » 14! 500
202 o4dl 8,640 10,800 A2,160
01 = LH o4 1l 8,640 10,800 22,160
OO0l 90,000 x8H 128 8,640
203 YR =] 3,320 3,360 AN40
02 A& ERFXH| 320 360 A40
OF A IS R =AY 40,0003 +8H 320
04 EAN2IHR2FEHI 3,000 3,000 0
ORAN2EIRFAHI 250,000& x12& 3,000
405 XHobE S HI 7,600 0 7,600
01 AL EFFH S 7,600 0 7,600
O ZHEAI 7 7,000,000 = 1CH 7,000
oOx2s MEI 7¢ 600,000 = 1CH 600




